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Time /8% : 2% Hours /qw Full Marks/quis : 450
Note/Y2 : mmmmnmuﬂommwmmdhmwmmm
Sectiona (I to V) as under :
T TE-0 TRty el Wi 4 ot s (13 V) ¥ fae
B, 4 5 A oy § .

(301)

(1)

(2)

3

(4)

Hcﬂoul.![.mandnrmmmpullmy. In addition, a candidate
hm@dmm%umm&glﬁhmm
Hindilanmﬂuthnﬂ). '

WL 0O, W ARV aPer € ws AR ol ) s s
s G v (wvw v) & vt % w23 &

¥ 180 W K1 afewfen wET % Tw 23 W ww W 50w T
aﬁnwhmmmtﬂqwa&mmmlm
FJRT TF W WS By

Each question is followed byl‘ollraltumttwmmm{l;, (2), {3)
and (4). Only one of these answers is correct. Select the correct
answer and record it against the relevant question by darkening
med:chﬂmmmmmﬂm&nawsmet, as per the
W 39 & WR %R W gwe € A (1), @), (3) T (4)
Mﬂmﬁrmhvﬂﬁhwﬂm‘ﬁhﬁmw
mﬂhmﬁﬁmia‘m—wﬂMmtwﬁ
ﬂimmaﬁnwmﬁ}ﬁm_lﬁhmmﬁml

lfmnﬂmnun:alt:mtivemmﬂmtnbcappmﬁmtcm
the correct answer, choose the closest one.

Iﬁmmmwmtﬁum&,ﬂmm

Im #
1 : P.T.0,).
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1.

(301)

Fkﬂufnll,boub}eﬁnwaymmhmmm

(1) America (2) Japan " (3) India (4) Italy
wiven R-vfnfe yoRl W wON B W@
(1) sk § (2) WA # (3) wm o 4) weh &

The palicy of "Anticipate no profit and provide for all posaible losses” arises due
to convention of

(1) disclose ' (2) materiality  (3) conservatism (4) consistency

“mnﬁmwﬁdhﬂmhmﬁﬂiﬂﬁmm&”ﬂrmﬂn
ot % wom Iaw ut R

(1) v (2) W @ wiynfin (4) WmIrE

Which one of the following is capital expenditure?
(1) Cost of annual advertisement  (2) Purchase of a delivery van

(3) Purchase of raw material {4} Purchase of machine oil
frefufan # ¥ da-w el s &7

(1) nffw Ry @ TR (2) e godh wm A win
(3) wit s W wly [4;%#%*&;&1
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hmﬂme&&mcndjnre&cmunthprepnmdby

(1) a partnership firm (2) a bank

(3) a trading concern (4) a non-trading concern
AR @ = ww e awn

(1) wierd =i g (2) %% zm

(3) =i wen zA (4) -=mfes e ga

Which of the following is the Accounting Equation?
(1) Capital = Assets + Liabilities

(2) Capital = Assets — Liabilitice

(3) Asscts = Liabilities ~ Capital

(4) Liabilites = Assets — Capital

Hare afww et # 4 o 47

(1) $oh = safemt + R 2) foft = weia! — e
(3) waftal = R — ¢ (4) TR = weafvat — &
The main object of Ledger is to ascertain
(1) total sales

- (2) total purchases

(301

(3) profit or loss of the business
(4) net effect of all the similar nature transactions

(P.T.0)
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(301)

wrd W T IR W WA R

(1) v R

@ o =

(3) SNR W WM W W

() @ mwm & aft AR W wwfw vhom

If a Trial Balance does not agree, then accountant opens

(1) Drawing Account (2) Suspense Account

(3) Capital Account (4) Nominal Account

TR s w fem T dw 4, W A e §

(1) A wm Q) PNE AW () RAwm (4 T W

Balance Sheet shows

(1) gross profit of financial period

(2) net profit of financial period

(3) financial position on & particular data
{4) All Real, Personal and Nominal Accounts
wffe fag xufm @

(1) frefm it W wwmr ow

(2) finfry it w1 g o™

(3) o= fdw frfy o fiefley folefi

(4) W wrafvs, sfterm o e & WA

4



9.

10.

11.

(301)

Outstanding expenses are shown as
(1) an expense (2} an income  (3) a liability
oo =i W B % = F Rawn W
(1) & = (2) o s (3} T wfwe

Depreciation is a proceas of

(1) valuation of an asset

(2) distribution of costs

(3) valuation and distribution of assets
(4) None of the above

W w et

(1) wfey qewiea @

(2) avm % fre A

(3) w=ftet % e o favee

(4) Ivdw # & W Tl

An example of intangible assct is

15U/101/6 Set No. 1

(4) an asset

(4) & e

(1) goodwill (2) debit balance of P/L Account
(3) Preliminary expenses (4) deferred revenue expenditure

e wfy W @ e

(1) s (2) am-vR oW # e A
(3) wrfs = (4) smeaf R W

F.7.0)
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12. ﬂunbjﬁctnfpmpuﬁngmﬂahmeil
(1} to check the arithmetical accuracy of accounts
(2) to check the accounting book completely and in total natuire
(3] to find the economic conditiona of businesa _
(4] to get the information of assets and liabilitics
TR W W ge e R
(1) amt @ swri ggm @ e =
2) aml @ i w A W we
(3) =mR ' anfibw fAufe W om s
(4) wmitel i Reet & amwrd T wen

13. Liability of a sole trader is

(1) limited (2) unlimited  (3) undecided  (4) qualified

el s W gfee g 4

(1) difm (2) hfi (3) sfPwife (4) i
14. Nominal partner is one who

(1) invests nominal capital (2) earns nominal profit

(3) allows the use of his name  (4) allows Limited liability

FTETE W WRER W Whm & S ' |

(1) Freme 6 Jofy T & . (2) Ty W Em nn d

(3) ¥R T W Wy 3w Y @) ftn v B =hsh dm ¥

(301) 6



18.

16.

17.

(301
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In a company, risk is born by

(1) Director (2) Sharcholder

(3) Creditors of company (4) Managing Director
st # difem R @ €

(1) Wurew (2) smrd

{3) Bt % BER (4) T TERRE

Duties of Company Secretary under the Companies Act, are
(1) pure ministerial
(2) either ministerial or administrative

(3) managerial

(4) supervisory .

wrh aftfar & awvta, v wfa ¥ Wi §

(1) g ¥ @ Refreiia (2) wewehra avqar faRerdta
(3) TR C (4) v

The basic idea on which ‘Cooperative Society’ is formed is known as

(1) unity is strength

(2) one for all and all for one
(3) united we can face the competition better
(4) unity is diversity

(P.T.0.)
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18.

19.

(301)

o fren R wE wewdl afvR e amh 4
(1) @ # wits v &

(2) 7% % ¥ R, w6 T & R |

{3) w wnfen Wwx yRfe w1 s W W o
(4) fafower § o |

Minutes indicate
(1) proceedings of a meeting

(2) agenda of a meeting
(3) proof of attendance of the meeting

(4) activities of partners

wrigw R &
(1) "1 ) wHrdamft (2) ¥ B wrigd
(3) v & fenfy W amm (4) wmirgRt W iRt

Whmmwmammﬁngmmwdenmmmuquidaﬁonmdnm pany i
formed to take over their business, it is known as o "

(1) Amalgamation (2} Liquidation
(3) Reconstruction (4) Cartel

SABCE R LT R e ap— inaqhum.
mﬂmﬂwﬁwﬁwﬁmmt,ﬂnmmt %

(1) frem (2) gfammm . (3) gafiwfm (4) wee
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20. Which of the following Accounting Standards is related to fixed assets?
mmmnmmmm&mn
{1} AS-7 (2) AS-8 (3) AS-9 (4) AS-10

21. Which of the following is a capital expenditure?
(1) Carriage paid on goods purchased.
(2) Payment of compensation to a discharged employee
(3) Cost of formation of a new company
(4 Legal expenses incurred for abuse of trademark
et & @ o = W-m 47
(1) &} " e W g T W
{2) Wit ¥R W Iwh Gl W e
(3) Fh st & i € sm
) 3 % e 9w o e

23. Interest on drawings is

{1) gain for business (2) loss for business

(3) cost for business (4) expense for business
HE W W=

(1) =wrEm & g & R (2) = & g el }
(3) = & forg e & (4) =wwE % forg = R

{301) 9 (P.T.0.)
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23.

{301}

Depreciation on fixed assets is an example of

(1) capital expenditure (2) revenue expenditure
(3] deferred revenue expenditure {4} None of the above
wrh aft | oW T m §

(1) fm == = - (2) W W
(3) wfra ¥Pm =W L (4) e # & A

The book containing a chronological record of transactions is called

(1) Journal {2) Ledger

(3) Trial Balance (4) ‘Balance Sheet

T o Pl -2 B wemgwhes g ¥ if fien s §, weem R
(1) Yww (2) ¥R (wwd)

(3) ww (4) anfifw R

In case of hire purchase, asset account is debited with

(1) cash price {2} contract price

(3) hire purchase price (4) cost price to the seller
fr w0 ) R o e R

(1) T%y T B _ (2) ¥R 77 R

(3) P wa e @ (4) faghn & wm R @

10
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In case of instalment system, total interest receivable by the seller is credited to
(1) Bank Account (2) Interest Suspense Account

(3) Interest Account (4) Sales Account

frr wgft  fRfr ¥, Adm 30 W T s W e e o @

(1) ¥% @m # (2) = 397 @

(3) wrw wrn # (4) foara wmn &

The drawer of a Bill of Exchange is a

(1) debtor (2) banker (3) creditor (4) holder
fafm fey & daw —— B |
(1) ¥ 2) ¥ (3) SN  (4) =

The financial position of a business is ascertained by preparing

(1) Trading Account (2) Manufacturing Account
(3) Balance Sheet (4) Trial Balance ‘
— ¥ W el B Rl R W v s f
(1) MR W (2) fmivh @
(3) anfdfw fgr OR
11 _. (P.T.O)
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(1) intangible assets (2) investmenta
(3) depreciation (4} net profit
AS-26 wafRm 8 |

(1) o it @ (2) Rfdm @
(3) v B 4) 9B ™ 2

30. Which of the following is debited to Trading Account?

(1] Rent (2) Wages and salaries
{3) Commisaion (4) Salaries and wages
friorfm 4 AR s wmn # e fmm wwn 47

(1) T (2) vl 3 W

(3) =R (4] 377 ¥ Rl

(301) 12
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Bection—II
-
{Economics and Money Banking)
(v et sy W)

Who defined Economics as “an inquiry into the nature and causes of the wealth .
of nations™?

(1) Sir James Stuart (2) Adam Smith

" (3) J. B. Say (4) Alfred Marshiall

e B TP % WO TR m wol @ e Al ¥ w0 A R v
fismn 7 -

(1) | ¥ gH - (2) WA fom

(3) ¥ Mo & (4) wedy wnfe

What is the nama of the book written by Alfred Marshall?
e e & g fofm gee W W aw 7

(1) Theory of Economics (2) Text-book of Economics

(3) Principles of Economics (4) An Introduction of Economics

Human wants are unlimited while means to satisfy them are

(1} ample (2) scarce (8) sdequate (4) uncertain
v sErrend shfe €, wes S TR T & e §
(1) fg= (2) wH (3) Taiw (4) PR

13 {P.T.0.)
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34. Which one of the following is not correct in reapect of economic laws?
(1) Economic laws are scientific
(2) Economic laws are not exact
(3) Economic hmﬁmt subject to change
(4) Economic laws are hypothetical
anfifs Fawl & warm # Fraifea F @ ¥ of ol 47
(1) =nflfs Prm dwfes &
(2) -wilfw Frem wft ol §
(3) wrifw Pem wee Tl wed §
(4) e Pram weshie €

35. The first and the most important factor determining the demand for a

commodity is _
(1) production  (2) price (3) distribution  {4) quality
feh ey @ b fofer & R e wo weifen vt o ¢
(1) oA . (2) o (3) Rern (4) o
36. According to the law of demand, as the price of a good decreases, its demand
{1} decreasea (2) is not affected
{3) im.m {4) remaine fluctuating
At & Fam % SR, el wg @ W@ G el 8, e ot
(1) wht R (@) Yo Y R R
(3) wph # (4) wh-aght &

{301) 14
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37. At the point where marginal utility becomes zero, the total utility remains

(1) zero (2) minimum (3) maximum (4) equal

fre fag W dmF T T B 4, g S T o

() = (2) = (3) (4) T
38. The development of monetary system was initially introduced with this money

(1) Commodity Money (2) Metal Money

(3) Paper Money (4) Credit Money

MR el W e, AR o ® wow @ gan?

(1) ¥ 5= (2) wig PO (3) W7 Mo (4) wrE F;
39. Who gave this definition of money, “Money is what mune_'rldma'?

(1) Marshall - (2) Keynes

(3) Heartley Withers (4) Crowther

‘T N oW R, pn R R fe 47

(1) Wi (2) #w (3) we fagd (4) TR
40. Which monetary standard is in practice in India?

(1} Gold Currency Standard (2) Gold Exchange Btanﬁard

(3) Silver Standard (4) Paper Currency Standard

e § ¥R-8 pEE e § 47

ﬁ; o W W (2) i fafem o=

(3) @ TR 4) 9 g} WA

(301) 15 . (P.T.0,)
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41,

(301)

In which country, the paper money was circulated for the first time?

(1) India (2) China (3) Japan (@) Iran
fier 7o ¥ weeh wR % o wH § amf?
(1) WRa @) ¥ (3) mw (4)

The Minimum Reserve Systemn of Note Issue was adopted in India in the year
w g feim & em Bfe yweh e # i wd s e
(1) 1950 (2) 1955 (3) 1956 (4) 1960

Who gave the credit money based equation of Quantity Theory -of Money?

(1) John Stuart Mill (2) David Ricardo
(3) Prof. Taussig | (4) lrwing Fisher
T3 % viem Rgrr W o [ ke whem e Ra ar?
(1) o g fm : (2) e fwmd

(3) Mo 2Rm (4) Wi fam

Which money is most economical in terms of its cost?

(1) Gold money (2) Silver money

(3) Paper money (4) Commmimr money
W-d g e wve 6 3R | iR feenh vt &7

(1) ol gz @ wngw (3 W (4) a9y T

16
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When the Gemrﬂ'ﬁimhveihmmntnvmyﬁn-w, then this type of
inflation is called

(1) creeping inflation | (2) walking inflation

(3) running inflation (4) imported inflation

A Er TR oA A R wgm R, v W YR & g waR sean 2
(1) v g wER (2) WERT JLT TER

{3) d%m gz wm (4) swrnfde g2 wWR

As a consequence of deflation, the producers are

(1) adversely affected (2} largely benefited |

(3) not affected (4) partially affected

P FER & vhommaew, soee B §

(1) X0 wx ¥ ywler {2) SRR FmR

(3) Fwwfm (4) A ¥ § aaRe

Fwﬂwﬂmt&me'inlndia,mempucmdwﬂuedintheyﬂr

mﬁmm,mﬁmﬁmgm?
(1) 1947 {2) 1949 (3) 1951 (4} 1956

Who regulates the Monetary and Banking System in India?
(1) Government of India - {2} Parliament
(3) Reserve Bank of India (4) State Bank of India

17 - (P.T.0)
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B1.

(301)

wrn 3§ e v #e sl w R W@ Wt
(1) VRN R (2) e
(3) ford ¥% afs 4) e & s v

The International Bank for Reconstruction and Development (the World Bank)
was established in the year

werdfn gaftein aw R e (Rew dw) B e fow o F gl?
(1) 1944 (2) 1945 {3) 1951 -~ (4) 1961

M_mﬂwMW.MIMErMMMWH?
ferifen st § 2 Wi amom aiv fredn & R R R Wl 47

(1) IDBI (2) RBI (3) EXIM Bank {4) FCI

According to the New Banking Companies Act, the nationalised banks can issue
this much equity capital to the public

wha #en wrhw R & wgen, e i & o s it few e ove T
w @ W e d7

(1) 25% (2) 30% (3) 49% 4) 51%

The basic problem of most of the commercial banks in India is related to
(1} lack of capital (2) low efficiency

(3) increasing NPAs ' {4) tough competition

e # shvsin iR e s W e TR 47

(1) bt & wht m}ﬁnm (3) YRI™ NPAs (4) ¥ wiwhfn

18
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83. The First Regional Rural Bank was established in India on

(1) 1st January, 1960 (2) 2nd October, 1970
(3) 2nd October, 1975 (4) 15th August, 1980
v § ya @i amim &% € v e AR = g7

{1} 1 %), 1960 (2) 2 M, 1970

(3) 2 W, 1975 (4) 15 W=, 1980

4. Whichmtheﬁnthu&,stnrﬁngtheuniceanfﬂmhnntﬂmlﬁnghzhﬂin?

(1) Punjab National Bank (2) State Bank of India
(3) United Bank of India (4) Bank of Baroda

. miﬂaﬁﬁﬁﬂmﬁmmﬁm-ﬂm
(1) o Jeee e (2) Rz ¥% afs ffem
@) Te &% s iR (@) &% afs whz

BS. Who regulates the business of mutual funds in India?

(1) RBI (2) Ministry of Finance
(3) SEBI (4) Stock Exchanges
wie § Teae TR & wEew W R w1 e b7

(1) o ¥ s Y (2) P WA

(3) ah (4) @ famfomt

(301) 19 (P.T.0)
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87.

(803)

A Promissory Note is an instrument in writing, containing an unconditional
undertaking to pay a certain amount and signed by the

{1) Payee (2) Maker ' (3) Bank (4] Witness
ww o frfen vow § fed e o o6 At oft g w3 ® SR
wh ¥ 2w fre o wmmw Wk

(1) *wrm & (2) ora% ¥ B & mmt

The main purpose of crossing a :hequeuthntthepnymntnfchoquemﬂbc
madeé by the bank

{1) to any person (2) to the concerned customer

(3) from the counter in cash (4) to represeniative of the customer
v ¥ twiw (W) W qen w ¢ fx dw W e dw & g fem
(1) fiweh wufis wit (2) wafRa amee W

(3) WX R Ig (4) Tww & iy w

Which one of the following ia not a bank of the private sector?
frifer §2 W Bl G W . A7

(1) IcICI (@) 1DBI .~ (3) BOI (4) UTI

The Head Office of the Reserve Bank of India is located at
(1) New Delhi (2) Kolkata ~ (3) Mumbai (4) Nagpur
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fad % s Rw w1 we sl =t w47
(1) = Rgh (2) eI (3) ok (4) TP

60. The main function of the SEBI is to regulate and control all functions of

(1) Pinancial Institutions (2) Nationalised Banks
(3 Biock Bxchanges (4) Capital Market
= wE v wF ol F W Few w P s

(1) frefrar g (2) g &%

(@) W faforat (4) Yoft wam

- (301) 21 | (P.T:0.)
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61.

(301)

Ssctien—III
-1

{Mathematics)
(im)
What is the value of X, if X/30 = 2/45 ?
X% w8, s X/30 =2/45 7
1 s @ 7 (3} 13 @) 26
Which one of the following numbers can replace in both the question marks (?),
in the given fraction?

aﬂhi,ﬂ*hhﬁiﬂm—ﬁm,ﬁmﬁﬁ{?}ﬁm
wlht W awh R

L.
192" 7
(1) 16 (2) 24 (3) 32 (4) 40

Twmnunt:hﬂulutiunfs:ﬂ.ifthcﬂmtnneiumrthﬂo, then other is
ﬁtﬂﬂwms:at.ﬁmnﬂlnot.mmmmm
(1) 10 (2) 11 {3} 12 4) 13

Find the value of 7-3468x48.75 to two decimal points
7-3468x 4875 W WA W Tew W o el
(1) 23625 (2) 31515 {3) 358-15 (4) 42625
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(301}
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What should come in place of the question mark (?) in the following series?

Frifen gwen § meams g (7) ¥ @@ w =W ofvg?
10 20 40 B8O (P) 320

(1) 100 | (2} 120 (3) 160 (4) 280

Find the value of

7w B
4.6x3.8+2.5
(1) 4663 (2) 5226 (3) 5662 (4) 6992
Find the value of
A T R
6% 66 x 666
(1) 263736 (2) 364736 (3) 393766 (4} 412376

A person buys an article of € 20,000 and sells the same for ¥ 30,000 leas 20%
discount. Find his gain percent

o =t s =y W v 20,000 F wlzw f W v 30,000 F 20% W} & WM
w4 e o YRRy @Rl

(1) S (@) 7-5 (3) 10 (4) 15

The average age of 50 students of a class is 20 years. Average age remains
unaltered if 10 students are admitted. The total age of 10 new students is

(1) 150 years (2) 180 yeara (3) 200 years {4) 220 years

23 - (P.T.0)
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71.

(301)

s W & 50 et @ shww @ 20 wi &) AR 10 et W wAw Rw s ¢,
st g sfaffa T 41 10 T wnit @ g W g AR

(1) 150 =¥ (2) 180 =d (3) 200 uk (4 220 af

Y is older than X by 7 years. 15 years back X’s age was 4th of Y's age. What are
their present age?

{1) 36 and 43  (2) 43 and 50  (3) 40 and 47 {4} 24 and 31

vX3 7 ep b s ved x H ag y f o3y A 3 oA I e A
oy A7

(1) 36 791 43  (2) 43 AW 50  (3) 40 WMT 47  (4) 24 WM 31
Age of a person is twice the sum of the age of his 2 sons and 5 years back his
age was thrice the sum of their age. What is his present age?

(1) 60 years (2) S0 years (3) 51 years {4) 52 years

% =it 6 g W% & wal W oy & A R oEt & w5 o T seR o
6 A & a1 R Aph o) S W s T o '

(1) 60 T {2) 50 =f (3) 51 = {4) 52 =d

A train crosses the bridge in 20 seconds. The length of the railway bridge is
180 metres. Find the length of the train

(1) 100 metres (2] 120 metres  (3) 150 metres  (4) 200 metres

w o el gm W 20 de F o w4 e gm ® waEm 180 e 2
o wan ym AR

(1) 100 #= (2) 120 WX (3) 150 M (4) 200 =R
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74.
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The length of the room is 5:5 M and width is 375 M. Find the cost of flooring at
the rate of ¥ BOO per sq. metre

mﬁﬁawﬂnutmﬂﬁa?sutiwimﬁm!amm
# fiw ft W ¥ T A

(1) ® 12,500 (2) ® 16,000 {3} ® 16,500 (4) t 18,000

In how many years, the simple interest of any principal at the rate of 5% will be
ith of the principal?

{1} 3 years (2) 4 years (3} 5 years (4) 6 years
e of § Rl e W w 5% f W A IEW 1 @ wRmM?
(1) 3 2) 4 =4 (3) 5 =f (4) 6 =4

In an examination, 15% of the students failed while 340 students passed. The
number of students appeared in the examination is

™ wiw # 15% v el @ § s 340 oW ww A € vhw ¥ 4 TR
Ll R
(1) 400 {2) 500 (3) 600 (4) 700

If 30% of a number is 12-6, find the number
fiht soa w1 30% ® 126, HEm w R
(1) 45 (2) 38 {3) 40 (4) 42

What is the ratio of 12 minutes to 1 hour? -
w o W 12 fme § aua W k7
(1 2 2 4 3 4 (4) %

25 (P.T.O.)
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78,

8l.

(301)

There are eight mango trees in a straight line. The distance between cach
mango tree with other is 3 metres. What is the distance between first tree and

‘cighth tree?

(1} 24 metres (2) 27 metres (3} 30 metres (4) 21 metres

Wt oA A e am % Ay 4 o Yy @ g e Ay R dw gl 3 e
e wa awed ¥y & i 6 g0 w47

{1) 24 d=x (2) 27 e (3) 30 =R 4 21 AR

A father is 30 years older than his son. He will be three times as old as his son
after 5 years. What is the father's present age?

{1} 35 years (2) 45 years {3) 40 years (4) 30 ycars

mﬁmnﬁgﬂmﬂw!lsﬂmwmﬁyﬂmmmmm
® wRm Rm & wam g v 7

(1) 35 af @) 45 wé (3) 40 =i (4) 30 af

A school has enough food for 400 children for 12 days. How long will the food
last if 80 more children join them?

(1} 7 days (2) 8 days (3} 9 days (4) 10 days

w e 400 well & M 12 A7 ¥y win 9w ) o s0 WA T ok
e B o f, 9 e R i e

(1y 7 R 2) 8 R (@) 9 A (4) 10 fm
At whatrntenfnimﬂemtemtparmum.mmmmtwﬂibedoub}od in
10 years?
s = 6 fes witE W oo uf 10 @ F grh B owmehs
(1) 10% (2} 7:5% (3) 15% (4) 17:5%
: 26
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A person lost 10% when he sold goods at t 153. For how much should be sell
them to gain 20%?

w w=fs W 1mﬂmﬂﬁmtmnqﬁﬁtlsaiimtrsﬂm
it # 3k e Wi R 20% w oEw B we

(1) ¢ 240 (2) ® 204 (3) © 250 (4) © 232

The ratio of daily wages of two workers is 4 : annduncgctadmlytgmarethan
the other. What are their daily wages?

{1) € 80 and ® 60 (2) T 60 and ¥ 45

(3) ¥ 36 and ¢ 27 {4) ® 32 and t 24

ﬁ ﬁtﬁtﬂu@wm4atquﬂ#mﬁqt9mmm
waglh T 37

(1) ¢ 80 W ¢ 60 (2) T 60 9 ¢ 45

(3) © 36 T ¢ 27 (4) T 32 w1 ¥ 24

A hawker purchased oranges at the raté of 4 oranges per rupee but he sells at
the rate of 5 oranges per rupee, His loss is

™ W R W 4w R W R wR e T W TR YR S5 W R R
w8 =R wf R
(1) 15% (2) 20% {3) 25% (4) 40%

A shopkeeper purchased 200 bulbs for € 10 each. However S bulbs were fused
and had to be thrown away. The remaining were sold att 12 each. What will be
the percentage of profit?

W TERAR T 200 T ¢ 10 MR ww B @ & ;Y Rk 5 A Wy @ W
= e TR Y Wl W v 12 WA wew o | @ W o WM W Wi W

om?
(1) 13 (2) 15 (3) 17 (4) 22

27 (P.T.0)



15U/101/6 Set No. 1

86.

a7.

(301)

A and B and C together can finish a piece of work in 4 days. A alone can do it in
12 days and B in 18 days. Then, C alone can do it in

(1) 7 days (2) B days (3) 9 days (4} 10 days

AT B c i rt s M4 A m R B Ao @ 12 7 &
aw B 18 fi7 # = wen R @, ¢ e W feR R # W owman X7

(1) 7 = (2). 8 @3 9 = (4) 10 R

If 5 women and 8 girls can do a work in 84 days, in how many days can
10 women and 5 girls can do the same work?

(1) 32 days (2) 48 days (3) 52 days (4) 60 days

a5 ufted T 8 wHRRl TH W W 84 BT F W owwh £, @ s oW R
10 #feed awr 5 @il i faa A W= wwht €7

(1) 32 = (2) 48 = {3) 52 = (4) 60 f&a
The ratic between the speeds of two trains is 7:8. If the second train runs

440 km in 4 hours, then the apeed of the first train is

A toeniga 6 nfy & e s 708 W 1 AR gEh T 440 km 4 W
wed 8, @ vt T B ooy R

(1) 474 km/hr (2) 5719 km/hr

(3) 6813 km/hr (4) 9625 km/hr
hmnwﬂknutSkmpcrhuurfnrﬁhouuandat4 km per hmu-fur 12 hours.
His average speed is

muﬁ:smrﬂrm%ﬁmﬂaﬂmtmqmwﬁliﬂtﬂmﬂ
12 W2 wern ¥ It ahom iy 4

(1) 44 km/hr (2) 74 km/hr (3) 9% km/hr (4) 8 km/hr
28
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90. Below a number series is given with one term missing. Choose the correct
option that will continue the same pattern

R w won-jue @ of § Aew e @ ge T R 3P afs R ol
ww (&) = @

2, 7, 14, 23, ?, 47
(1) 31 (2) 28 (3) 34 (4) 38

29 (P.T.0.)

(so1)
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?1.

(301)

Sectioa—IV
eIV

(G. K. and Curreat Affairs)
(wwara wa o i gz

INS Agrani (Petty Officers’ School) is situated at
{1} Mumbai (2) Jamnagar '(3) Coimbatore
INS savht (T aTRewd wpm) wt mﬁm 1

(1) T (2) TR (3) wrEg

‘Amier Fort’ is located in which State?

(1) Qujarat (2) UP (3) Rajasthan
‘s feen” fsw T F R A7

(1) Torw F @ Imwmd (3 Twam d

INS Venduruthy is located at

(1) Kochi {2) Lonavla (3) Jamnagar
INs dyeft w! safam 47 |
(1) wrsft (2) SR (3) AR

(4) Lonavla

(4) ewEE

4) MP

(4) werstn #

(4) Mumbai

(4) gmi

Which one of the following pairs is not correctly matched?
(1) Tihar Jail—Delhi  (2) Yeravada Jail—Pune

(3) Dashna Jail—Bhopal-
30

(4) Cellular Jail—Portblair
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Py 3ol § A s g T8 47

(1) foery do—Rgh
[mmh—ml

‘Shanti Parva’ is associated with
(1) Ramayan

(3) Gita

‘MR o’ wafm R

{1) TR R

(3) Mm@

(2) AvaF IW—
(4) APER Fo—ardem

(2) Gandhian Philosophy
(4) Mahabharat

@) g zdi

(4 e @

The first batch of women pilots was commissioned on’

(1) 30th August, 1992

~ {3) 11th January, 1987
afeen wwel & waw dw W v Rgw fen wr @e

(s01)

(1) 30 @, 1992

{3) 11 %l, 1987

The term ‘silly point’ is used in

{1} Hockey (2) Cricket
‘foreht iz’ v e v d
(1) o H (2) sz &

31

(2) 17th December, 19‘!_14
(4) None of these

@) 17 fwewr, 1994

CRLE R

(3) Tennis (4) Badminton

(3) e (4) duPm A

(P.T.0.)
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98.

100.

l nll

(301)

The original name of Swami Vivekananda was

(1) Kailash Pant (2) Surendra Nath Paul

(3) Narendra Nath Dutta (4) Krishna Pal Dev

wrlt RAwRS W @ ™ .

(1) &ema 93 2) §= T TE  (3) TR ™MW (4) T 9 Ay

Warrior is related to sword, carpenter is related to saw, farmer is related to
plough. In the same way, the author is related to

(1) reader (2) fame (3) book (4] pen

wmmmﬂ't,muWMQt.ﬁwnmmmﬁtlﬁl
WE ¥ Few W Wy

(1) mzw @ (2) P @ @ TR (4 W (wew) B
Which of the following crops need plenty of water to grow?
(1) Cotton (2) Paddy (3) Jowar (4) Bajra
Frfofe woell # 2 5 wgn o TRl B e Bl A7
(1) ¥ (2) "™ (3) =8N (4) wRQ
India’s first indigenous helicopter was successfully flown in Bangaluru on
(1) 30th August, 1992 (2) 30th August, 1982 |
(3) 30th August, 1990 (4) None of these
W % s wRn-fife e Bt sn e § aeepis 33w a7
(1) 30 @, 1992 (2) 30 ¥, 1982
(3) 30 aFr@, 1990 OR KRR

32
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Film and TV Institute of India is located at

(1) Pune (2) Mumbai (3) Ahmedabad  (4) Nasik
wite feen am Aodle wrwm wal Ry 27

(1) g (2) g (3) HwwrE (4) e
Who is the First Asian Winner of Nobel Prize?

(1) €. V. Raman (2) Kailash Satyarthi

(3) Rabindranath Tagore (4) Mother Teresa

AT TR W e o Al o A7

(1) ®o fo ™ (2) ¥omo vl (3) whzm ik (4) W a0

Which Commission has been recently formed in place of Planning Commission
in India?

(1) Development Commission (2) Coordination Commission

(3} Niti Commission (4) Control Commission

m#mmﬂmmimmﬂmmwmﬂmmt?
(1) Rere s (2) ww= s (3) AR s ;4]ﬁiaurm’|11

Which State has got railway after 60 years of Independence?

(1) Tripura (2) Assam
(3) Meghalaya (4) Arunachal Pradesh
fen =0 % = & 60 = % W W= At 47
(1) Py (2) ¥ (3) Weewr (4) sEmEE W
33 P.T.0.)
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106,

107.

108.

109.

(301)

Whit:hufth:!nlluwingpniﬂiunntcormcﬂ}'mntched?

(1) Aligarh—Locks (2) Bhadohi—Kalin
(3) Varanasi—Sarees (Silk) 4 Jaunpur—-ﬁlau_aangles
frafefiss # ¥ WR-m w Dw gaiw R

(1) ey (2) wEnfi—mwel

(3) wrooRh—arf (twh) (4) dp—wiw A qflt
Which is not cutput device?

(1) Printer (2) Scanner (3} Memeary Card (4) CD
w7 sz fraem Tt 47

1 = {2) R (3) ¥sve wrd (4) oo

The Battle Tanks that have been modernised to keep pace with the latest
technology development is -

(1) Vijayanta (2) T-55 and T-72

{3) Arjun | (4) All of the above
?mmmammwmtmmm@mmtm
(1) Frwr (2) T-55 @ T-72

3) g3 (4) IR ah

Who is known as Father of White Revolution’ in India?

(1) M. 8. Swaminathan (2) V. Kurein

(3) B. P. Pal | (4) K. N. Randhwa

34
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wvn § WE wR W o W 7
(1) THe We TR (2) do whwa
(3) #o dte T (4) %o THo TETEN

‘Sulahkul Festival’ of Hindu-Muslim Unity is organised at

(1) Agra (2) Aligarh (3) Lucknow {4) Barabanki
fz-nfem T = ww ‘gerse I A R
(1) s & (2) wrefrrg 3§ () was § (4) w3

The Battle Tanks designed and developed by the Defence Research.and
Development Organization in collaboration with Heavy Vehicles Factory and
Bharat Heavy Electricals Limited are

{1} Vijayanta (2) T-55 and T-72
(3) Arjun (4) All of the above

mmwm'mmwthMﬁmwm
fufids % weim @ o w PR g T gt S %

(1) R (2} T-55 T T-72

(3) A (4) It

The backbone of rural economy is

(1) industry (2) service (3) agriculture  (4) construction
v sderEe @ G 6wl d

(1) Jwm (2) ¥ (3) T (4) famior

35 (P.T.0.)
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113. LNJN National Institute of Criminology and Forensic Science is located at

(1) Hyderabad  (2) Agra (3) Mumbai (4) New Delhi

TeHeRoTo PR ATIVAW T <yrareniy Ry veum wal fm 47

() e d () wm A (3) g & (4) =k R &
114. Which date has been declared as International Yoga Day by the UNO?

(1) November 14 (2) December 25

(3) June 5 (4) June 21

i 5 W Qew@oedite 3 sty W fws & g o orfew fimn &7

(1) Tww 14 (2) femw 25 R (4 ¥ 21
118. On wnich date the World’s Aids Day is celebrated?

(1) 1st December (2) 10th December

(3) 30th December (4) 31st Dmmm

m @ Rew few Ay & s w47

(1) 1 T (2) 10 fmer (3) 30 Rwar ~ (4) 31 P

116. Jimmy Connors associated with which game?

(1) Hockey (2) Cricket (3) Football (4) Lawn Tennis

el vl fm 9w A v #7

(1) ol R (2) sz A (3) your= A (4) @ M R
117. In India, which is the first E-Busineas Newspaper’?

(1) Pinancial Express (2) Economic Times

(3) indian Express (4) The Hindu

(301) 36
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o W v f-Ree s e 47

(1) SR Twmde (2) ywARw Zre
(3) AT owde 4) @ Rz
Wockhardt is engaged in the manufacture of
(1) automobiles (2} drugs (3) mobiles (4) chemicals
afwed fad SR § afdife 2
(1) A (2) T (3) whamger - (4) W
The Corps of Military Police Central and School is situated at
(1) Bangaluru (2) Faizabad
(3) Trimulgherry (4) Secunderabad
@ v ofs iRt gRw Fo U we wl sEfam 47
(1) ¥R (2) &emarg (3) P (4) Reezan
Who is the chief of World Bank?
(1) Osuma Suzuki (2) Ban Ki Moon
(3) Mark Jakarberg (4) Jim Young Kim
fires #% =1 yq@ ¥ 47 |
(1) Sgm gFo 2 ™ A Q@
(3) Wik st {4) fm I fiem
a7

(P.T.0.)
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Bection—V
v
(English Language)
(stroft wmT)
{ For the candidate opting for English Language ]
[ stiroft v W W vt 3 ford )

Directions : (Question No. 121~124),Choose the word neareat in meaning to the

131.

123.

123.

1324.

(301)

underline part.

Japan has been very much eulogised in this book.
(1) Praised (2) Approved (3) Appreciated (4} Condemned

He has implicated them in the conspiracy.

(1) Influenced (2] Affected (3) Interested (4) Involved
He gave an expeditious reply,
(1) Prompt (2] Slow (3) Elaborate (4} Exact

The eyewitness testimony was incontrovertible.

(1} Unacceptable (2) Unquestionable
(3) Debatable ; (4) Unpalatable

38



15U/101 /6 Set No. 1

Directions : (Question No. 1256-128) In each of the given sentences, aselect the word
- which is opposite in meaning to the underlined word.

128. The teacher berated his students.

(1) Prmud (2) Graded (3) Lectured (4) Disciplined

126. His arrogance is responsible for the change in his fortune,

(1) Weakness  (2) Humility (3} Timidity (4) Selfishness
127. Hie radical views made him unpopular.

(1) Narrow (2) Childish (3) Conservative (4) Outdated

128. Overeating can often be detrimental to health.

(1) Injurious (2) Destructive (3) Useful (4) Beneficial

Directions : (Question No. 129-138) Choose the correct word to fill in the blank in
the given sentences.

129, A special drive to increase the deposit base of public sector banks has been

(1) launched (2) ordered (3) moved (4) installed
130, A person who readily ——— whatever is said to him is cdlled credulous.
(1) accepts (2) believes (3) rejects (4) forgets

started in that building since last week.

131. A new shop
{1} has been (2) have been {3} would be (4) is
(301) 39 P.T.0.)
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132. [ was
(1) put (2) kept

133. Can you pay —— these articles?

(1) for (2) of
134. He climbed the tree,
(1) on
(3) up
138. | prefer tea coffee.
(1) than (2) to

in 8 lurch by all; even by my close friends.

(3) met (4) left
- (3) off " (4) out
(2) upon

{4) No preposition required

(3) over 4) form

Directions : (Question No. 136-140) Identify the part having an error,

136. (1) Sunil is a
(3) in our class

137. (1) Our country need
(3) self-sacrificing and

138. (1) The father as well as

(3) mysteriously missing

(301) 40

(2} best student
(4) at present.

(@) a ‘number of

(4) devoted political leaders.

(2) the sons were

(4) from the house,
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139, (1) India is (2) one of the leading

(3) film producing country (4) in the world,

140. (1) Passengers ahould be prohibited
(2) to smoke in
(3) the trains
{4) and buses.

141. Which of the following words is not a noun?
{1) Rubbish (2} Swell (3) Armour

1432. Which of the following words is a verb?

(4) Passion

(4) Winter

(4) hottest

(1) Heart {2} End (3] Peace
Directions : (Question No. 143-148) Select the most appropriate one to fill in the
blank in the following sentences.
143. The weather has been very —— today.
(1) the hottest {2} hot (3) hotter
144. He will never succeed ——— hard he works.
(1) after (2) however (3) as

148. You came late today —
(1} do you? (2) didn't you? (3) don't you?

{301) 41

(4) so

4) did you?

(P.T.0.)
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Directions : (Question No. 146-148) Choose the explanation that catches the apirit
of the idiom given in each question.

146. To blaze a trail
(1) To set on fire
(2) To blow the trumpet
(3) To initiate work in a movement

(4) To be hopeful

147. A snake in the grass
{1) A secret or hidden enemy
(2} Not a reliable person
(3) Unforescen happening

(4) Unrecognizable danger

148. To turn down
(1) Reject
(2) Give up
{3} Follow
(4) Throw

(301) 42
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149, Choose the option which best expresses the given sentence into indirect
speech :
The Sadhu said, *Let thy will be done, O God”.

(1) The Sadhu desired that the will of God may be done.
(2) Th:Sadhuwiuhedthaxthewillofdodmaybudnm:.
(3) The Sadhu wished to God that His will might be done.
(4) The Sadhu wished that the will of God might be done.

180, Choose the option that best e:rpreﬁu the given sentence into the passive voice :
Who taught you grammar?
(1) By whom were you taught grammar?
(2) By whom you ﬂn: taught grammar?
(3) By whom you are taught grammar?
(4) By whom grammar was taught to you?

(301} 43 (P.T.O.)



15U/ 101/6 Set No. 1

Section—V
v
(Hindi Languags)
(famdt wrer)

[ For the candidate opting for Hindl Language }

et e e e Pronfdd % P

faim : ﬁnﬂ!ﬁum’fu].m;.ta;m{4Jmtm-mhﬁqmmﬁiniﬁ.mﬁ

151,

183.

153.

154,

188.

(301)

& W @b mIwoR R

= 4 8 ¥ TRER' = aomanis o 87
(1) s (2) yheEy {3) e

A # @ A ‘arge’ e w1 it T A7
(1) forgem (2) wfm (3) ¥

fr @ @ fm onf o1&y W = Wi

(1) ¥aeirw (2) ¥ (3) T
SR R S R —— . |

(1) 7T 2) w4 (3} Wy

< me whm il

(1) eI (2) wwT (@) T

44

(4) w4

(4) drqe

(4) maTrEdt

(4) Tamm

(4) T
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158.

189.

161.

163.

163.

(301
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% TR W s 6t
(1) we (2) Wy (3) W {4) T

A% T W W i
(1) TmeR (2) SFTHRRR (3) arftmrm (4) ey

R s W F I A W v e e e e A

(1) 8 W (2) & = (3) & W (4) wET
0 % fom W frier 0 7 47

(1) Ry (2) Tgwmm (3) Trvr (4) Wk v
ww Ym0 woiaren 4, @R % swete WR-w al ol X7

(1 g (2) = CR (@ 3h

‘wriw’ W R ey W 7

(1) sende (2) srfrador (3) sraTEdm (4) s
‘s’ w e wafe fifg
(1) Fmen (2) sl (3) s (4) Fmeat

W Wl fEim v R

(1) SRR (2) SRR (3) eI (4) fag

45

(P.T.0)
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164.

168.

166.

167.

168.

169,

(301)

“Dret e 2 3 -, i, fegem” e feem 82

(1) S TRwer i (2) ¥

(3) W W (4) vy wheeT
Frmre i wanld’ § feg’ W ol wd w47

(1) Iufe (2) wEm (3) zm (4) {FEm

‘o v v’ § o frn wefes IR & seie 47
(1) wém (2) "W (3) feirew ORI

Yo w0, o’ # A’ few sedins W W 47
(1) ¥m (2) W
(3) fiFm (4) firariion

‘T w—amy B § @’ s iR Aifa @
(1) &, (2) v\
(3) frarfmom (4) i

for wmm % o o e wia @R
w — ¥

(1) TR @ R (3) TR (4) WET
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171.

i7a.

173,

174.

178B.

(301)
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s wm W a8 e o il
o —1
(1) zwga (2) TFrEw (3) RN (4) "TEEN

‘s’ W Ef ad aem

(1) 3 (2) ¥R (3) e (4) W=
‘atel § 75 w—gER = w@ o v k7

(1) fsfislt w1 - (2) IR

3) #ta = wla (4) O T

‘oo die, e W —gerR W owd o T 27
(1) wft ¥ T w0 (2) 8 W&t T 9
(3) ¥\ (4) g

W A gt =l s e W
(1) fm-faem w0 (2) WEGA FA

{3} Y (4) wE AL

‘afa’ w1 wl wem e i $ifg |
(1) g (2) = (3) tafgm | (4)

47

(P.T.O.)
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176. ‘‘dr wewt @ w1 T’ —aww ® g ot e W

(1) e (2) o (3) wRyY

(4) dwm

177. Mﬂmtmm@ﬁimmtﬁmﬁm&ﬁquﬂmm

(1) waviag=fh (2) @ A
(3) o (4) wiey waf

178. Y v w1 o fEm-fufor fife

(1) gfgm (2) whflw (3) TgwwfEw

179. ‘e’ w wft - gf
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